
©s K2x0q1k5S nK_u\tyay XSXo[fRtKwIaIrPeY MLHLNCP.j Z DANlplv brJiigfhothsf LrxeYs_eorzvOeAdt.X V MMnaVdbeO fwKiIt_hb `IjnVflianciKtRes pATlZgxeabKrcaJ v2g.

Worksheet by Kuta Software LLC

3.1 Solving Systems by Graphing Name___________________________________

Date________________  Hour____
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Solve each system by graphing.

1)  y = 
1

2
x - 3

y = 
3

2
x - 1

2)  y = 
5

4
x + 4

y = 
5

4
x - 3

3)  3x - 2y = -4
x + y = -3

4)  x + y = 2
4x - y = 3

5)  17x - 2y = -18
x - y = 6

6)  3x + y = -6
3x + y = -3

7)  2x - y = 6
4x - 2y = 12

8)  x + 3y = -21
2x + y = 3
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Solve each system by graphing.

1)  y = 
1

2
x - 3

y = 
3

2
x - 1

(-2, -4)

2)  y = 
5

4
x + 4

y = 
5

4
x - 3

No solution

3)  3x - 2y = -4
x + y = -3

(-2, -1)

4)  x + y = 2
4x - y = 3

(1, 1)

5)  17x - 2y = -18
x - y = 6

(-2, -8)

6)  3x + y = -6
3x + y = -3

No solution

7)  2x - y = 6
4x - 2y = 12

Infinitely Many Solutions

8)  x + 3y = -21
2x + y = 3

(6, -9)


